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| Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark your answer sheet.

Ted’s father seems eccentric; he is frequently observed behaving in an manner.
1) enthusiastic 2) adept 3) enduring 4) unconventional
The of scientific thinking has institutionalized the idea that knowledge has to
progress and can do so only through research.

1) artifact 2) advent 3) oversight 4) renown

Paul the fact that his closest friend didn't trust him.

1) resented 2) procured 3) notified 4) raised

Jill’s dinner parties quickly became monotonous on account of her for
Mexican dishes.

1) dispersal 2) flavor 3) penchant 4) rumor

When participating in a yoga class, Katarina attains a placid state; the music
and soft lighting invoke a serenity that is otherwise lacking in her frenzied existence.

1) uproarious 2) sporadic 3) soothing 4) skyrocketing

Eighteenth-century urban dwellers lived in much worse conditions than their modern

1) mediators 2) residents 3) rivals 4) counterparts
However, many couples who have been unable to have children are, understandably,
to adopt mentally handicapped children.

1) reluctant 2) insufficient 3) benevolent 4) fallacious

One of our students was unable to her wheelchair up the ramp.

1) enhance 2) propel 3) salvage 4) initiate

After the organization aided the catastrophe victims, it was given an award for

1) innovation 2) conciliation 3) lavishness 4) altruism
Although many women had little control over their own lives in medieval England,
Margery Kempe’s fifteenth-century autobiography a remarkable degree of
autonomy.

1) compromises 2) negates 3) manipulates 4) demonstrates

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

Since antiquity, human beings (11) life spread far and wide in the universe. Only
recently (12) come to understand the nature of life on Earth and (13) life
exists elsewhere. Recent discoveries of planets (14) other stars and of possible fossil
evidence in Martian meteorites have gained considerable public acclaim. And the scientific
case for life elsewhere has grown stronger (15) the past decade. There is now a sense
that we are verging on the discovery of life on other planets.

1) would have imagined 2) had imagined

3) have imagined 4) imagined

1) science has 2) has science 3) science had 4) is science
1) it is possible 2) it is the possibility of

3) that is possible for 4) the possibility that

1) orbiting 2) orbit 3) orbited 4) they orbit

1) while 2) than 3) during 4) from
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PART C: Reading comprehension

Directions: Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

The concept of enhancing basic GPS performance through terrestrial aids was conceived some
years ago. Pseudolites (PL), or integrity beacons, are low-power ground-based transmitters that
can be configured to emit GPS-like signals for improving accuracy, integrity, and availability
of GPS. The improvement in accuracy can be obtained due to the enhancement in local
geometry, measured according to a lower VDOP, that is of key importance in aircraft precision
approach and landing. Accuracy and integrity improvement can also be achieved by exploiting
the pseudolite integral data link to support DGPS operations and integrity warnings broadcast.
Furthermore, PLs provide additional ranging sources that augment the GPS constellation,
hence enhancing availability. The use of PL implies a careful evaluation of some induced
effects, such as the near-far problem that a user receiver may experience, depending on the
signal level encountered as the distance to the PL varies. The PLs typically operate at the L1
frequency and are modulated with an unused pseudorandom code. in order not to be confused
with a satellite. A second GPS antenna mounted on the aircraft is used to acquire the PL signal.
The presence of two PLs, which are generally placed within several miles of a runaway
threshold along the nominal approach path. reduces the requirement of visible satellites for
DGPS operations to four. Centimeter-level position accuracy can be achieved.

Using Pseudolites as a notion of intensifying GPS performance is..... .

1) preferable than integrity beacons.

2) low-power for improving availability of GPS.

3) the key importance in aircraft precision approach and landing.

4) methodical since they can be configured to emit GPS-like signals.

Which one of the following sentences is correct?

1) While using PLs, there is no obligation for using GPS antenna.

2) Pseudolite is one of the terrestrial aids in order to ameliorates GPS signals.

3) Using Pseudolites or integrity beacons, are low-power ground-based technique.

4) by exploiting the pseudolite integral data link to support DGPS operations, we can
achieve centimeter-level position accuracy.

According to the paragraph, we comprehend that......

1) Pseudolites are ground-based pseudo satellite transmitters.

2) using beacons, we can achieve centimeter-level position accuracy.

3) using two PLs without any marked configuration reduces the requirement of visible
satellites for DGPS operations to four.

4) by enhancement in local geometry, which is measured according to the topmost
VDOP. the improvement in accuracy can be procured.

The PLs typically run at the L1 frequency.....

1) in sequence not to be bewildered with a satellite.

2) and are modulated with an accustomed pseudorandom code.

3) in order to diminish errors that a user receiver may experience.

4) , simultaneously a GPS antenna mounted on the aircraft is used to acquire the satellite
signals.
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Which one of the following sentences is incorrect?

1) The presence of two PLs reduces the requirement of visible satellites.

2) The improvement in accuracy can be mislaid due to the augmentation in geometry.

3) The utilization of PL entail a careful appraisal of some induced impacts, such as the
near-far problem.

4) Amended local geometry measured according to a lower VDOP, is significant in
aircraft precision approach and landing

Passage 2:

Information integration is the combination of different types of information in a framework so
that it can be queried, retrieved, and manipulated. For integration to be efficient and to deliver
the kind of information that the user is expecting, it is necessary to have an agreement on the
meaning of the information. In a broader scope, it is necessary to reach an agreement about the
meaning of the entities of the geographic world. In order for information sharing to happen
among different communities in an effective and meaningful way, the concepts that people
have about the real world must be explicitly formalized. Such an explicit formalization of
mental models is called an ontology. Ontology is often seen as an engineering artifact that
describes a certain reality with a specific vocabulary, using a set of assumptions regarding the
intended meaning of the vocabulary words.

The effective integration of multiple resources and domains is known as interoperation.
Interoperability is formally defined as the “capability to communicate, execute programs, or
transfer data among various functional units in a manner that requires the user to have little or
no knowledge of the unique characteristics of those units”. In the past, exchanging geographic
information was as simple as sending paper maps or raw data tapes through the mail. Today.
computers throughout the world are connected and the use of GIS has become widespread. The
scope of interoperability has changed from static data exchange using flat files to global
systems, interconnected using sophisticated protocols to exchange information on-line. In the
future. computers are expected to be able to share not only information but also knowledge.
Although GIS have been characterized as an integration tool, GIS interoperability is still far
from being fully operational.

21- According to the passage, which one of the followings is the hurdle of GIS interoperability?

22-

23-

1) Technical illiteracy of the users.

2) There is not a consensus view on ontology.

3) It is still far from being fully operational.

4) It is applying highly evolved protocols to exchange information on-line.

Which one of the followings is the best narration for "ontology''?

1) The complete collection of mental models.

2) Using a set of assumptions regarding the intended meaning of the vocabulary words.

3) The formalization of abstract models depending on hypotheses of real world.

4) An engineering artifact that describes specific vocabulary by deliberating meanings.

According to the paragraph, we comprehend that......

1) for supplying effective information for users, we should observe ontology.

2) information integration is the fusion of information in an infrastructure in order to be
analyzed.

3) Interoperability is defined as the capability to communicate, execute programs, or
transfer data for experts.

4) GIS interoperability possibly necessitates expert supervision to perform necessary
adjustment and corrections.
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GIS interoperability is...... 3

1) the assimilation of numerous resources and fields.

2) sophisticated protocols to exchange information on-line.

3) information integration in a way that provides queries, retrieval, and administration.

4) technical expertise in capability to communicate, execute programs, or transfer data
among various functional units.

Which one of the followings is incorrect?

1) The scope of interoperability in engineering is to exchange data between sectors
without broadcasting the sophisticated procedure.

2) Utilization of GIS has become ubiquitous since the computers are connected through
internet.

3) Currently, as a consequence of computer technology. exchanging information is crude.

4) The scope of interoperability has changed from fixed data.

l C) Choose the word or phrase that best completes the blank spaces 26 to 30.

Radiance is a radiometric measure that describes the amount of light that (26) .............. a
particular area and falls within a given solid angle in a specified direction. It indicates how
much of the power (27) .............. by an emitting or reflecting surface will be received by an
optical system. Because the eye is an optical system, radiance is a good (28) .............. of how
bright an object will appear. For this reason, radiance is sometimes called “brightness™. (29)
.............. this usage is (30) .............., the nonstandard usage of brightness for radiance

persists in some fields, notably laser physics.

1) passes through or emits from 2) passes through or is emitted from
3) is passed through or emits from 4) is passed through or emitted from
1) emits 2) emitting 3) emitted 4) is emitted
1) evaluation 2) estimation 3) indication 4) observation
1) As 2) Despite 3) Nonetheless 4) Although

1) advised 2) acceptable 3) forbidden 4) discouraged
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